EmBA:-$M4E3[78A)

ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

BfI: uSv/h

HFE S :100cm

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:03 14:50 14:41 14:32 15:15
BIEE 0.061 0.050 0.053 0.077 0.051
ATEEE 0.001 0.001 0.001 0.004 -0.009
EER:-SF4E3R148(R)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:04 13:50 14:42 14:32 15:16
HIE & 0.059 0.050 0.054 0.073 0.060
ATE EE -0.002 0.000 0.001 -0.004 0.009
EEB:SF4E3R2380K)

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:08 14:58 14:48 14:39 15:20
HIEE 0.060 0.058 0.048 0.070 0.054
ATEEE 0.001 0.008 -0.006 -0.003 -0.006
EHE B 5 45E3828H(A)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:04 14:52 14:43 14:34 15:17
HIE B 0.058 0.050 0.051 0.068 0.055
AT[E LE -0.002 -0.008 0.003 -0.002 0.001




EmB - $M4E2878(A)

ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

BfI: uSv/h

HFE S :100cm

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:04 14:53 14:45 14:35 15:15
BIEE 0.061 0.053 0.053 0.075 0.056
ATEEE 0.002 0.001 0.003 0.007 0.001
=R - SM4E28148(A)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:04 14:53 14:45 14:36 15:16
HIE & 0.058 0.052 0.053 0.070 0.058
ATE EE -0.003 -0.001 0.000 -0.005 0.002
EER S 4E28218(R)

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:05 14:52 14:44 14:34 15:18
HIEE 0.063 0.055 0.050 0.070 0.053
ATEEE 0.005 0.003 -0.003 0.000 -0.005
EHER:Sf452H288(A)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:04 14:52 14:43 14:34 15:18
HIE B 0.060 0.049 0.052 0.073 0.060
AT[E LE -0.003 -0.006 0.002 0.003 0.007




EhiEB-RM4E1H48CN)

ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

BfI: uSv/h

HFE S :100cm

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE B2 15:03 14:51 14:42 14:31 15:15
BIEE 0.064 0.054 0.053 0.067 0.060
ATEEE -0.004 -0.005 -0.005 -0.013 -0.006
EER:SF4E1R1280K)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:05 14:55 14:45 13:36 15:16
HIE & 0.063 0.057 0.057 0.076 0.058
ATE EE -0.001 0.003 0.004 0.009 -0.002
EHER: S 4E1B178(A)

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:03 14:47 14:40 14:31 15:15
HIEE 0.063 0.053 0.054 0.073 0.062
ATEEE 0.000 -0.004 -0.003 -0.003 0.004
EHE B 5 451 8248(R)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:05 14:50 14:40 14:32 15:14
HIE B 0.064 0.057 0.051 0.073 0.053
AT[E LE 0.001 0.004 -0.003 0.000 -0.009
EER:SF4E1A318(R)

o= F1m(dh) | FE2im(F) FE3H = (F) FAt S (F) | FEots (BE)
I TE BRI 15:06 14:54 14:45 14:37 15:16
HITE B 0.059 0.052 0.050 0.068 0.055
ATEEE -0.005 -0.005 -0.001 -0.005 0.002




EHEH:sM3E12A68 ()

ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

BfI: uSv/h

HFE S :100cm

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:04 14:53 14:45 14:35 15:16
BIEE 0.070 0.060 0.049 0.088 0.062
ATEEE 0.007 0.011 -0.002 0.027 0.008
=R SM3FE128138(A)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:05 14:53 14:45 14:34 15:16
HIE & 0.072 0.057 0.059 0.068 0.063
ATE EE 0.002 -0.003 0.010 -0.020 0.001
EER . $F3%E128208 (A)

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:08 13:55 13:46 14:38 15:18
HIEE 0.062 0.057 0.055 0.071 0.060
ATEEE -0.010 0.000 -0.004 0.003 -0.003
EHEBR:$F3FE12R278 (A)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:03 14:51 14:42 14:32 15:16
HIE B 0.068 0.059 0.058 0.080 0.066
AT[E LE 0.006 0.002 0.003 0.009 0.006




EEH:SM3E11A1B(A)

ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

BfI: uSv/h

HFE S :100cm

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:05 14:53 14:44 14:35 15:15
BIEE 0.064 0.058 0.057 0.070 0.057
ATEEE -0.005 0.005 -0.001 -0.006 0.001
EHER:SFM3FE11A8A(A)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:04 14:51 14:44 14:34 15:15
HIE & 0.062 0.052 0.057 0.080 0.054
ATE EE -0.002 -0.006 0.000 0.010 -0.003
EER - SF3E11A158 (A)

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:05 14:52 14:43 14:33 15:15
HIEE 0.062 0.054 0.056 0.079 0.056
ATEEE 0.000 0.002 -0.001 -0.001 0.002
EHER:SFM3FE11H248 (K)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:06 14:54 14:45 14:36 15:18
HIE B 0.067 0.053 0.050 0.071 0.054
AT[E LE 0.005 -0.001 -0.006 -0.008 -0.002
EER - SM3E11H298 (A)

o= F1m(dh) | FE2im(F) FE3H = (F) FAt S (F) | FEots (BE)
I TE BRI 15:07 14:55 14:46 14:36 15:19
HITE B 0.063 0.049 0.051 0.061 0.054
ATEEE -0.004 -0.004 0.001 -0.010 0.000




EBR SM3E10848(A)

ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

BfI: uSv/h

HFE S :100cm

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:04 14:52 14:43 14:32 15:17
BIEE 0.064 0.052 0.056 0.077 0.064
ATEEE 0.006 -0.005 0.004 -0.001 0.009
=R SF3FE108118(A)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:04 14:50 14:42 14:31 15:15
HIE & 0.060 0.052 0.054 0.079 0.065
ATE EE -0.004 0.000 -0.002 0.002 0.001
EiER - SF3E10818H (A)

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:05 14:54 14:45 14:34 15:16
HIEE 0.065 0.053 0.054 0.077 0.058
ATEEE 0.005 0.001 0.000 -0.002 -0.007
EHER:$F3FE10A258 (H)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:04 14:52 14:45 14:34 15:15
HIE B 0.069 0.053 0.058 0.076 0.056
AT[E LE 0.004 0.000 0.004 -0.001 -0.002




EmB - SM3FEIA6A(A)

ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

BfI: uSv/h

HFE S :100cm

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:08 14:58 14:50 14:40 15:20
BIEE 0.064 0.059 0.058 0.074 0.057
ATEEE 0.004 0.007 0.007 0.001 0.006
=R . SM3FIA138(A)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:16 15:07 14:55 14:45 15:26
HIE & 0.060 0.053 0.049 0.075 0.054
ATE EE -0.004 -0.006 -0.009 0.001 -0.003
EER - SFIFEIA218 ()

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:05 14:52 14:45 14:34 15:16
HIEE 0.057 0.050 0.052 0.076 0.057
ATEEE -0.003 -0.003 0.003 0.001 0.003
EHER:SF3FIHA278 (A)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:08 14:54 14:46 14:35 15:19
HIE B 0.058 0.057 0.052 0.078 0.055
AT[E LE 0.001 0.007 0.000 0.002 -0.002




EmB - S$M3E8H28(A)

ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

BfI: uSv/h

HFE S :100cm

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:15 14:58 14:50 14:40 15:25
BIEE 0.059 0.052 0.051 0.080 0.058
ATEEE 0.000 -0.001 -0.006 0.008 -0.001
EER :SFIFESA108 (K)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:03 14:50 14:43 14:32 15:15
HIE & 0.056 0.050 0.044 0.071 0.052
ATE EE -0.003 -0.002 -0.007 -0.009 -0.006
EiER - $f3E8A168 (A)

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:04 14:51 14:42 14:32 15:15
HIEE 0.057 0.058 0.048 0.062 0.053
ATEEE 0.001 0.008 0.004 -0.009 0.001
EHER:$F35E8H238(A)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:06 14:55 14:46 14:36 15:20
HIE B 0.061 0.056 0.044 0.068 0.050
AT[E LE 0.004 -0.002 -0.004 0.006 -0.003
EER : $F3E8A3I0RB(A)

o= F1m(dh) | FE2im(F) FE3H = (F) FAt S (F) | FEots (BE)
I TE BRI 15:04 14:54 14:45 14:36 15:16
HITE B 0.060 0.052 0.051 0.073 0.051
ATEEE -0.001 -0.004 0.007 0.005 0.001




EmB - SM3E7ASA(A)

ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

BfI: uSv/h

HFE S :100cm

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:02 14:51 14:40 14:30 15:14
BIEE 0.066 0.057 0.050 0.070 0.060
ATEEE 0.008 0.003 -0.005 -0.004 0.002
=R . SM3FETA128(A)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:06 14:55 14:46 14:36 15:16
HIE & 0.058 0.052 0.052 0.067 0.059
ATE EE -0.008 -0.005 0.002 -0.003 -0.001
EER - SFIETA208 ()

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:06 14:54 14:45 14:36 15:18
HIEE 0.058 0.048 0.049 0.070 0.052
ATEEE 0.000 -0.004 -0.003 0.003 -0.007
EHER:SF3FETH268 (A)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:04 14:52 14:43 14:33 15:15
HIE B 0.059 0.053 0.057 0.072 0.059
AT[E LE 0.001 0.005 0.008 0.002 0.007




ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

BfI: uSv/h

HFE S :100cm

EEH: 6578(A)
#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:04 14:52 14:43 14:32 15:15
BIEE 0.068 0.050 0.052 0.072 0.052
ATEEE 0.010 -0.001 0.003 0.004 -0.010
EEBE: 6F158(X)
h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:07 14:54 14:46 14:35 15:17
HIE & 0.060 0.052 0.052 0.069 0.057
ATE EE -0.008 0.002 0.000 -0.003 0.005
EHER: 68218H)
o= FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:06 14:51 14:43 14:33 15:16
HIEE 0.055 0.054 0.051 0.071 0.053
ATEEE -0.005 0.002 -0.001 0.002 -0.004
EEH: 65288(A)
Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:08 14:55 14:47 14:37 15:20
HIE B 0.058 0.054 0.055 0.074 0.058
AT[E LE 0.003 0.000 0.004 0.003 0.005




EBR SM3ESA68 (K)

ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

BfI: uSv/h

HFE S :100cm

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:08 14:55 14:47 14:37 15:20
BIEE 0.065 0.051 0.056 0.071 0.053
ATEEE 0.002 -0.004 0.003 0.000 -0.007
=R . SFIE5H108(A)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:07 14:53 14:44 14:34 15:18
HIE & 0.060 0.053 0.052 0.077 0.059
ATE EE -0.005 0.002 -0.004 0.006 0.006
EER - SF3E5A178(R)

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:08 14:56 14:45 14:36 15:19
HIEE 0.063 0.060 0.057 0.084 0.051
ATEEE 0.003 0.007 0.005 0.007 -0.008
EHMER:SF3FE5H248(A)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:06 14:53 14:44 14:35 15:19
HIE B 0.073 0.049 0.051 0.075 0.057
AT[E LE 0.010 -0.011 -0.006 -0.009 0.006
EER - SMIES5A318(A)

o= F1m(dh) | FE2im(F) FE3H = (F) FAt S (F) | FEots (BE)
I TE BRI 15:06 14:54 14:45 14:33 15:18
HITE B 0.058 0.051 0.049 0.068 0.062
ATEEE -0.015 0.002 -0.002 -0.007 0.005




EiEH : FF3E4R6H (X)

ENE X — iR R BN EHERICHE TS ER B REAESER

#3E . HORIBA PA—1000

BfI: uSv/h

HFE S :100cm

#h = FithmGt) | F2R(R) | H3M R (F) FaM S (FE) | FESHA (BE)
HBIE BRI 15:00 14:50 14:40 14:31 15:13
BIEE 0.061 0.053 0.051 0.071 0.056
ATEEE 0.003 0.004 0.001 -0.004 0.001
=R . SM3F48128(A)

h = F1hm(dh) | SF22iR(R) | HE3Hha(F) FAth S () | FEoihs (BE)
I TE BRI 15:04 14:51 14:43 14:32 15:16
HIE & 0.058 0.049 0.053 0.076 0.062
ATE EE -0.003 -0.004 0.002 0.005 0.006
EEB - SF3FE4R198(R)

& FithmGt) | F2R(R) | H3M R (F) FAM S (FE) | FoHA (BE)
B E B Z 15:08 14:57 14:48 14:38 15:21
HIEE 0.066 0.051 0.051 0.073 0.057
ATEEE 0.008 0.002 -0.002 -0.003 -0.005
EHER: S 3FE4H268(A)

Hh = F1thmt) | F2R(R) | FI3MA(F) Fathm () | Foths (BE)
I TE BRI 15:07 14:54 14:45 14:36 15:18
HIE B 0.063 0.055 0.053 0.071 0.060
AT[E LE -0.003 0.004 0.002 -0.002 0.003
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